H & 0l & AHS B Ml A

TN S=EAA
M J8 YAHA 2=
ol FaEerd e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S=dgAd 39,494,576 37,148,184 2,346,392
= 23,318,7%
Jl 5,475,074
= 10,700,708
S& HAHA A= 39,443,876 37,099,584 2,344,292
= 23,318,7%
Il 5,475,074
= 10,650,008
At otd 2ke| 2,848,643 2,714,160 134,483
= 1,375
Il 1,406,600
= 1,440,668
HAES M2l Z X 22,400 22,500 A100
308 AHXIHMSO0IA 22,400 22,500 A100
01 RSN B EES 22,400 22,500 A100
OHIAtE Meldlg X2 22,400
SitersSgde A 533,750 423,750 110,000
403 MR SHHMSAH=01H 533,750 408,750 125,000
01 AXISHHA 22 £ 533,750 408,750 125,000
Odl+# HACCPs I S AIEEHl NI 33,750
Ok=x - Jis gEgds A& 375,000
Ottt JI84H| &X 125,000
CRZAE el2dl X 2,138,333 2,114,000 24,333
Jl 1,283,000
s 865,333
307 elztol & 2,138,333 2,114,000 24,333
Jl 1,283,000
< 865,333
03 2N EE=2SHIE X 2,138,333 2,114,000 24,333
O==Z AKX 2,138,333
Jl 1,283,000
= 855,333
SASHACCPRHAE (M2 /sE) 151,410 151,410 0
Jl 123,600
S 27,810
308 XtXIEMSO0IE 151,410 161,410 0
Jl 123,600
s 27,810
01 HXEHH B E2ES 151,410 151,410 0
OdAHEHAI HACCP & E X1 E 151,410
Jl 123,600
[ 27,810
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TN S=EAA
M MF YN PE
el Ssggac EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSSO0 A MSAEIE XS 33,040
OAJIE =&Y ogHa X 378,174
CAl 2d /AZBADI| LelssIt |24 106,520
OO0rdsE JITIM XI& 48,762
OX=HAL igefs XI& 102,000
Odtest geediid X3 92,250
OFAsIt 1B olgesal X2 45,000
Ogte=sIt iE2HMA X2 30,000
OtesIt &M X2 45,000
Og=Esit Follllds SALX XA 30,000
OJt=sIt HRAIJ 27,000
OBA=sIt oigesal X2 30,000
O2A=sIH ZEZ ol X& 20,000
OPRRS B0l A #ial X3 30,000
O=H 488 oY HALH A& 30,000
Ostes)t HASZM Xd 30,000
Ogd=EsIt &M X 90,000
Odt=sIt 25459 X2 30,000
Odt=sJt diEsHE N 9,000
IIEEYSAALRA 479,125 652,625 A173,500
308 AXIHMSOIA 212,625 212,625 0
01 XN B2 LS 212,625 212,625 0
OHEBASAIE & SHEL 284 S A2 212,625
403 AXIEHMSAH=01d 266,500 440,000 173,500
01 HXIHHA 22X 266,500 440,000 A173,500
OF4&sIH HHLYAAE X 241,500
OL=EH g A=AIE &R A& 25,000
I=2E oy & B ofF 1Y S K2 7,327,014 7,140,208 186,806
= 5,972,161
< 1,354,853
308 AXIMSOIA 7,327,014 7,140,208 186,806
= 5,972,161
& 1,354,853
01 HASHHBSEXS 7,327,014 7,140,208 186,806
(OF) e SN b= 3,440,537
= 2,997,694
= 442,843
O4 E=24detd & 299 W28 790,245
= 464,850
s 325,3%
OSHXl W2HHOlSlA Al X2 1,995,238
= 1,662,698




2A:

33 & SHHA 2=
el Ssggac EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 332,540
OHX 224d&e XNe XA 167,700
= 129,000
= 38,700
OF4Ateg (PS Sald| X2 377,219
= 290, 169
== 87,050
OFA&XE PS Al BEMA = 114,075
= 87,750
= 26,325
Oss¢d Jtat=ad| 19,500
= 15,000
= 4,500
OJt3sot 2gael(d4d) X 191,100
= 147,000
[ 44,100
& M=) SS2H XE 166,400
= 128,000
= 38,400
OAl sgesHIg NI 65,000
= 50,000
== 15,000
a2 7,467,187 4,978,125 2,489,062
= 6,637,500
== 829,687
308 AtXIEMSOIE 7,467,187 4,978,125 2,489,062
= 6,637,500
= 829,687
01 AXENBSEES 7,467,187 4,978,125 2,489,062
OJi=dgd Xz 242 A 7,467,187
= 6,637,500
= 829,687
goxted & 29 aAEdl S X 312,000 507,930 195,930
= 240,000
[ 72,000
403 MR HHMSAHE01H 312,000 507,930 195,930
= 240,000
= 72,000
01 XM= 22X 312,000 507,930 195,930
OII=LAXE R 156,000
= 120,000
= 36,000
ONHEHEASAIE X 156,000

~
|




2A:

33 & SHHA 2=
el Ssggac EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 120,000
=S 36,000

JIEAYLS A2 R SHH 2l2H| X2 2,838,300 2,838,300 0
Il 1,703,000
< 1,135,300

307 gl2to| & 2,838,300 2,838,300 0
Jl 1,703,000
= 1,135,300

03 YIZAHHEE 22X 2,838,300 2,838,300 0
OIS R@=F el X 2,838,300
Jl 1,703,000
= 1,135,300

SSHMNE =2 N 2,410,381 2,340,428 69,953
Jl 1,854,139
== 556,242

308 AtXIEMSOIE 2,410,381 2,340,428 69,953
) 1,854,139
= 556,242

01 HAHHBAEEXS 2,410,381 2,340,428 69,953
OssgNe 288 K& 2,410,381
Il 1,854,139
= 556,242

CV & &Hel=et 546,000 867,880 A321,880
Jl 420,000
=S 126,000

403 X SHHMSAH=01H 546,000 867,880 A321,880
Jl 420,000
< 126,000

01 AXIEHHA 22 % 546,000 867,880 321,880
O=FttsIL ggeluet Xa 546,000
Jl 420,000
= 126,000

SHNz=22E 2 ~2=HISXE 1,965,600 1,965,600 0
= 1,512,000
= 453,600

308 XtXIEMSO0IE 1,965,600 1,965,600 0
= 1,512,000
s 453,600

01 HXHH B E2ES 1,965,600 1,965,600 0
OSHz=42g & ASHIE A& 1,965,600
= 1,512,000
[ 453,600

THS oAl X2 9,737,351 9,644,246 93,105

o
|




2A:

M MF SR 2E
el Ssggac (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 8,538,028
T 1,199,323
308 AHXIHM SO & 9,737,351 9,644,246 93,105
= 8,538,028
T 1,199,323
01 IXSHHBLAEERS 9,737,351 9,644,246 93,105
OFHSE olgenal X2 7,217,536
= 6,648,630
= 568,906
OFHS WYES Alz=Hl K& 1,856,127
= 1,427,790
& 428,337
OF N HANE AEYA 2A5H K& 389,308
= 300,208
T 89,100
OFHS EH0Z MHEL(HEs) A 274,380
= 161,400
& 112,980
I=0HSA 2l - &% 45,000 180,000 A135,000
= 30,000
T 15,000
308 AHXIHMSOIH 45,000 180,000 135,000
= 30,000
T 15,000
01 AIXISHNBAEES 45,000 180,000 A135,000
OF M - Al 2t2lD12F oAl CH= X At=2tel 45,000
= 30,000
= 15,000
GPHEE XA 98,000 98,000 0
= 80,000
& 18,000
308 AEXIHMSOIH 98,000 98,000 0
= 80,000
T 18,000
01 AXSHHBLERS 98,000 98,000 0
S=E2UZ P AH&E XA 98,000
= 80,000
= 18,000
SSEAUZ =S =E B4 X2 186,200 186,200 0
= 152,000
& 34,200
308 AXISHMSOIN 186,200 186,200 0
= 152,000




A SSYEAAL
&l ¢

M A& HAHAH A=
el Ssggac (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 34,200
01 RIXISHHBAELS 186,200 186,200 0
O=28UE +=sE3=2 54 XA 186,200
= 152,000
& 34,200
SSaY9FMILLEY 3,600 2,565 1,035
203 R &I 3,600 2,565 1,035
03 A FRIHRFAIY| 3,600 2,565 1,035
Os=SYAM ARFX 3,600
AE UM Yl JtSAKSE et X& 137,002 79,698 57,304
J| 91,335
= 45,667
308 AXISHMSOIA 137,002 79,698 57,304
| 91,335
& 45,667
01 AIXISHHBAE LS 137,002 79,698 57,304
O&YLM il JIEAIFHIS K& 137,002
| 91,33
& 45,667
AYEINEHel A&l X 202,449 542,490 A340,041
= 155,730
T 46,719
308 AXISHMSOIN 65,169 196,690 A131,521
= 50,130
= 15,039
01 RIXISHHBAE LS 65,169 196,690 A131,521
QHAH =HKXeldl XI& 65,169
= 50,130
& 15,039
403 XX SHHS 201X 137,280 345,800 A208,520
= 105,600
T 31,680
01 XN K22 X 137,280 345,800 A208,520
OHIALM =18 XI& 137,280
= 105,600
= 31,680
HY A AL (SSYSIAM4) 50,700 48,600 2,100
Jl2dbl(s22S M) 50,700 48,600 2,100
ll2dtl(SSL9!4t) 50,700 48,600 2,100
201 L2 AH| 24,000 22,950 1,050
01 AtR2elt] 24,000 22,950 1,050
O=s=S4dM ARF 24,000
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